

$$5x - 4y = 1 \dots\dots\dots(1)$$

$$X - y = -7 \dots\dots\dots(2)$$

$$(2) \times \dots\dots\dots \text{จะได้} \dots\dots x - \dots\dots y = \dots\dots\dots(3)$$

$$(1) - (3) \text{ จะได้} \dots\dots\dots - (\dots\dots\dots) = 1 - \dots\dots\dots$$

$$5x - 4y - 5x + 5y = 1 + 35$$

$$\dots\dots\dots = 36$$

$$Y = \dots\dots\dots$$

$$\text{แทน } y = \dots\dots \text{ใน (1) จะได้ } 5x - 4 \dots\dots = 1$$

$$\dots\dots\dots = 1 + \dots\dots\dots$$

$$5x = \dots\dots$$

$$X = \dots\dots\dots$$

คำตอบของสมการคือ (..... ,)

